
Programme:
The International EPD® System

www.environdec.com
Programme operator:

EPD International AB
EPD registration number::

 S-P-08086
Publication date:

2023-03-17
Valid until:
2028-03-17

An EPD should provide current 
information and may be updated 
if conditions change. The stated 

validity is therefore subject to 
the continued registration and 

publication at  
www.environdec.com

In accordance with 
ISO 14025 and 
EN 15804:2012+A2:2019 for:

STRIPS AND SHEETS IN CARBON STEEL

From 
Marcegaglia Poland SP ZOO 

ENVIRONMENTAL
PRODUCT
DECLARATION

EN



Environmental
Product Declaration

Strips and sheets 
in carbon steel2 3

General information 5
programme information 5
company information 6
product information 6
LCA information 7

diagram of the production process of 
production of flat products 8

block diagram of the production process for 
the production of flat products 10

Others information: 11
description of the main activities 11

Environmental Information 12
potentiall environmental impacts 12
resource use 13
waste production 13
output flows 13
black coil strip 14
pickled coil strip 15

cold rolled coil strip 16
galvanized coil strip 17
black sheet 18
pickled sheet 20
cold rolled coil sheet 21
galvanized sheet 22

Additional information 23
sustainability 23 management system 23

References 24



Environmental
Product Declaration

Strips and sheets 
in carbon steel4 5

General information

PROGRAMME INFORMATION

Programme: The International EPD® System

Address: EPD International AB 
Box 210 60 
SE-100 31 Stockholm
Sweden

Website: www.environdec.com

E-mail: info@environdec.com

CEN standard EN 15804 serves as the Core Product Category Rules (PCR)

Product Category Rules (PCR):
Construction products, 2019:14, version 1.11, UN CPC 54, valid until 31-03-2023

PCR review was conducted by:

The Technical Committee of the International EPD® System. Review chair: Claudia A. Peña - 
Contact via the Secretariat www.environdec.com/contact

Independent third-party verification of the declaration and data, according to ISO 14025:2010, via:
   EPD verification by individual verifier

Third-party verifier: Guido Croce

Approved by:
International EPD® System Technical Committee, supported by the Secretariat

Procedure for follow-up of data during EPD validity involves third party verifier:
   Yes  No

The EPD owner has the sole ownership, liability, and responsibility for the EPD. 
EPDs within the same product category but from different programmes may not be comparable. 
EPDs of construction products may not be comparable if they do not comply with UNI EN 
15804. For further information about comparability, see EN 15804 and ISO 14025.



Environmental
Product Declaration

Strips and sheets 
in carbon steel6 76 7

COMPANY INFORMATION

Owner of the EPD:
Marcegaglia Poland SP Z O O  
kluczbork@marcegaglia.com

Contact:
To obtain more information about this product declaration 
and / or its configurations, the following references are 
available:
Mail: kluczbork@marcegaglia.com
Phone: +48 . 77 . 45 98 200

Description of the organisation:
Marcegaglia Poland is a company specialized in the 
transformation and marketing of flat products (strips and 
sheets).
The company, thanks to advanced production technology 
and the most modern automation systems, enters 
the market for the creation of any type of finish on 
components and accessories, allowing it to satisfy the 
most demanding and personalized requests.

The Marcegaglia manufacturing facility in Kluczbork 
is dedicated to the production of carbon steel welded 
tubes, strips and sheets for a wide range of applications, 
and serves as a distribution and service center for all of 
Marcegaglia group’s steel products.
Flat products from hot and cold rolled steel are developed 
in specific sizes and tolerances for applications such as 
heating and ventilation systems, pressure equipment, 
furniture components and fitness devices.

Product-related or management system-related 
certifications:

 ⃘ Quality management system compliant with 
the requirements of the standard ISO 9001:2015 
(certificate n° 24734/11/AN – valid until 02/09/2024).

Name and location of production site(s):
 ⃘ Ligota Dolna - ul. Przemysłowa, 1 • 46-200 Kluczbork, 

Poland

PRODUCT INFORMATION

Product name:
strips and sheets in carbon steel

Product identification:
strips and sheets in carbon steel

Product description:
A wide range of hot rolled, cold rolled, pickled and 
galvanized flat steel products are dedicated to 
mechanical applications, structural works, automotive 
and heavy vehicles, agriculture and farming.

From the company website it is possible to consult 
the product catalogs within which the technical 
characteristics of the same are described in detail.

UN CPC CODE: 
UN CPC 41231 Flat-rolled products of non-alloy steel, 
clad, plated, coated or otherwise further worked

Geographical scope:
worldwide

LCA INFORMATION

Functional unit:
The functional unit of the system considered is 1 tonne of 
flat product.

Reference service life - RSL:
For the products under study it is not possible to quantify 
the exact useful life as much also depends on their 
future use. However, it is emphasized that even when 
the deadline is reached, the product can be recycled and 
reused again to generate other raw materials.

Time representativeness:
The data used are representative of the year 2021.

Database(s) and LCA software used:
Ecoinvent database v.3.8, November 2021 / Software 
used SimaPro rel. 9.3.0.3.

Description of the system boundaries:
The study is “Cradle to gate with modules C1 – C4 and 
module D (A1 – A3 + C + D)” (reference: PCR 2019: 14 vers. 
1.11 valid until 31-03-2023).
Modules A1-A3 include material procurement processes 
(raw and auxiliary materials) as well as manufacturing 
processes.
Modules C1-C4 consider the uninstallation, transport, 
sorting and disposal of components deriving from the 
end-of-life operations of road barriers. These operations 
are not directly controllable by the company: in this 
regard, literature data relating to the construction sector 
are therefore used. It is considered:

 ⃘ an average consumption of diesel equivalent to 237.1 
MJ for each ton of material demolished;

 ⃘ an average distance of 80 km to transport the 
material to the recovery center;

 ⃘ an average consumption of electricity equal to 28 
kWh for each ton of material sorted.

Furthermore, it is assumed that 99% of the material 
delivered to the treatment center is recoverable. The 
remaining percentage (1%) is destined for landfill.
Module D considers the recovery and recycling potential 
of steel deriving from end-of-life processes: the 
calculation of the environmental benefits deriving from 
the recovery of steel is based on the indications provided 
by the document “Product Category Rules for Type 
III environmental product declaration of construction 
products to EN 15804: 2012 - Par. 6.3.4.6. Benefits and 
loads beyond the product system boundary, information 
Module D “. It should be noted that, in line with what is 
indicated in the “Life Cycle inventory (LCI) study” of the 
World Steel Association - May 2021, that the quantity of 
steel destined for recycling is equal to 85%.

Environmental
Product Declaration

Strips and sheets 
in carbon steel



BLACK COILS

COILS NERI

PICKLED
COILS

COILS
DECAPATI

COLD
ROLLED COILS

COILS LAMINATI
A FREDDO

HOT DIP
GALVANIZED

COILS

COILS
ZINCATI

PRE-PAINTED 
COILS

COILS
PREVERNICIATI

Pickling

Decapaggio

BLACK COILS

COILS NERI

FULL HARD 
COILS

COILS
FULL HARD

PICKLED
COILS

COILS
DECAPATI

Cold
rolling

Laminazione
a freddo

Annealing

Ricottura

Skinpass

Skinpass

Pre-painting

Preverniciatura

Hot dip
galvanizing

Zincatura

The wide range of additional processing and special grades 

with value added, highly customized solutions.
La vasta gamma di lavorazioni e di qualità impiegate consente 
di soddisfare i requisiti dei più diversi settori produttivi con 
soluzioni ad alto grado di personalizzazione e valore aggiunto.

BLACK SHEETS

LAMIERE NERE

PICKLED
SHEETS

LAMIERE
DECAPATE

SKINPASSED
STRIPS

NASTRI
SKINPASSATI

PICKLED
STRIPS

NASTRI
DECAPATI

SHEETS FROM
COLD ROLLED 

COILS

LAMIERE DA 
COILS LAMINATI

A FREDDO

HOT DIP
GALVANIZED 

SHEETS

LAMIERE
ZINCATE

PRE-PAINTED 
SHEETS

LAMIERE
PREVERNICIATE

COLD
ROLLED
STRIPS

NASTRI
LAMINATI
A FREDDO

HOT DIP
GALVANIZED 

STRIPS

NASTRI
ZINCATI

PRE-PAINTED 
STRIPS

NASTRI
PREVERNICIATI

COLD-DRAWN
TUBES

TUBI
TRAFILATI

TUBI SALDATI
DA NASTRO
LAMINATO
A FREDDO

WELDED TUBES
FROM

COLD ROLLED 
STRIP

REFRIGERATION
TUBES

TUBI
REFRIGERAZIONE

WELDED TUBES
FROM

GALVANIZED 
STRIP

TUBI SALDATI
DA NASTRO

ZINCATO
A CALDO

Pickling

Decapaggio

Tube forming
and welding

Formatura
e saldatura

del tubo

Tube forming
and welding

Formatura
e saldatura

del tubo

Heat
treatments

Trattamenti
termici

Heat
treatments

Trattamenti
termici

Polishing

Spazzolatura

Straightening
and cutting

Raddrizzatura
e taglio

Straightening
and cutting

Raddrizzatura
e taglio

Straightening
and cutting

Raddrizzatura
e taglio

Tube forming
and welding

Formatura
e saldatura

del tubo

Pointing

Appuntitura

Skiving/roller
burnishing

Pelorullatura

Tube forming
and welding

Formatura
e saldatura

del tubo

Sizing
and drawing

Calibratura

Drawing

Heat
treatments

Trattamenti
termici

Galvanizing

Zincatura

Passivation

Passivazione

Tube forming
and welding

Formatura
e saldatura

del tubo

WELDED TUBES
FROM

HOT ROLLED 
PICKLED STRIP

TUBI SALDATI
DA NASTRO
LAMINATO
A CALDO

Heat
treatments

Trattamenti
termici

Straightening
and cutting

Raddrizzatura
e taglio

DIAGRAM OF THE PRODUCTION PROCESS OF PRODUCTION OF FLAT PRODUCTS

CARBON STEEL PRODUCTS MANUFACTURING PROCESS



Environmental
Product Declaration

Strips and sheets 
in carbon steel10 11

Raw material warehouse

BLOCK DIAGRAM OF THE PRODUCTION PROCESS 
FOR THE PRODUCTION OF FLAT PRODUCTS

Others information:

DESCRIPTION OF THE MAIN ACTIVITIES
The production cycle begins with the arrival at the 
company of the steel coils transported by road and 
delivered to the plant. After arriving in the factory, the 
raw materials are processed by the respective plants to 
obtain the various components that make up the belts 
and the accessory component. The strips and the sheets 

leaving the above-mentioned factories are:
 ⃘ from black coil
 ⃘ from pickled coil
 ⃘ from cold rolled coil
 ⃘ from galvanized coil

Allocation rules
An allocation was made on a mass basis for energy consumption, water discharges, atmospheric emissions and waste.

Modules declared, geographical scope, share of specific data (in GWP-GHG indicator) and data variation:

A1-A3 Product 
stage

A4-A5 Con-
struction 

process stage
B1-B7 Use stage C1-C4 End of life stage

D Benefits 
and loads 

beyond 
the system 
boundary

R
aw

 m
at

er
ia

l s
up

p
ly

Tr
an

sp
or

t

M
an

uf
ac

tu
ri

ng

Tr
an

sp
or

t

C
on

st
ru

ct
io

n 
in

st
al

la
ti

on

U
se

M
ai

nt
en

an
ce

R
ep

ai
r

R
ep

la
ce

m
en

t

R
ef

ur
b

is
hm

en
t

O
p

er
at

io
na

l e
ne

rg
y 

us
e

O
p

er
at

io
na

l w
at

er
 u

se

D
e-

co
ns

tr
uc

ti
on

 d
em

ol
it

io
n

Tr
an

sp
or

t

W
as

te
 p

ro
ce

ss
in

g

D
is

p
os

al

R
eu

se
-R

ec
ov

er
y-

R
ec

yc
lin

g-
p

ot
en

ti
al

Module A1 A2 A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D

Modules 
declared

X X X ND ND ND ND ND ND ND ND ND X X X X X

Geography GLO GLO PL - - - - - - - - - GLO GLO GLO GLO GLO

Specific 
data

> 90% - - - - - - - - - - - - - -

Variations-
product

Not relevant - - - - - - - - - - - - - -

Variaition-
site

Not relevant - - - - - - - - - - - - - -

X = Module considered
ND = Module not declared
GLO = Global
PL = Poland

FINISHED PRODUCT 
WAREHOUSE

Slitter for longitudinal
 cut of coils

Dowel for
transversal cut of 

coils or ribbons

Packing line of ribbons with 
pallet strapping

Packing of metal sheets on 
pallets

Unloading of raw materials



Environmental
Product Declaration

Strips and sheets 
in carbon steel12 13

Environmental Information

The environmental performance indicators refer to 1 tonne of flat product.

POTENTIALL ENVIRONMENTAL IMPACTS

Impact category Abb. Unit

Climate change - total GWP - t kg CO₂ eq

Ozone depletion ODP kg CFC11 eq

Climate change - Fossil GWP - fossil kg CO₂ eq

Climate change - Biogenic GWP - biogenic kg CO₂ eq

Climate change - Land use and LU change GWP - luluc kg CO₂ eq

Climate change – Greenhouse Gases GWP - GHG kg CO₂ eq

Photochemical ozone formation POCP kg NMVOC eq

Acidification of land and water AP mol H+ eq

Eutrophication

EP - freshwater kg P eq

EP - marine kg N eq

EP - terrestrial mol N eq

Water use WDP m³ depriv.

Resource use, fossils ADP - F MJ

Resource use, minerals and metals ADP - MM kg Sb eq

RESOURCE USE

Impact category Abb. Unit

Use of renewable primary energy excluding renewable 
primary energy resources used as raw materials PERE MJ

Use of renewable primary energy resources used as raw 
materials PERM MJ

Total use of renewable primary energy resources 
(primary energy and primary energy resources used as 
raw materials)

PERT MJ

Use of non-renewable primary energy excluding non-
renewable primary energy resources used as raw materials PENRE MJ

Use of non-renewable primary energy resources used as 
raw materials PENRM MJ

Total use of non-renewable primary energy resources 
(primary energy and primary energy resources used as 
raw materials)

PENRT MJ

Use of secondary material SM kg

Use of renewable secondary fuels RSF MJ

Use of non-renewable secondary fuels NRSF MJ

Use of net fresh water FW m³

WASTE PRODUCTION

Impact category Abb. Unit

Hazardous waste disposed HW kg

Non-hazardous waste disposed NHW kg

Radioactive waste disposed RW kg

OUTPUT FLOWS

Impact category Abb. Unit

Reuse REUSE kg

Materials for recycling RECYCLE kg

Materials for energy recovery EN-REC kg

Exported energy-electricity EE-E MJ

Exported energy-thermal energy EE-T MJ



Environmental
Product Declaration

Strips and sheets 
in carbon steel14 15

BLACK COIL STRIP

Abb. Unit A1-A3 C1+C4 D

GWP - t kg CO₂ eq 2,505E+03 5,174E+01 -9,849E+02

GWP - fossil kg CO₂ eq 2,501E+03 5,178E+01 -9,821E+02

GWP - biogenic kg CO₂ eq 1,469E+00 -5,211E-02 -1,819E+00

GWP - luluc kg CO₂ eq 1,527E+00 7,919E-03 -7,725E-01

GWP - GHG kg CO₂ eq 2,414E+03 5,112E+01 -9,488E+02

ODP kg CFC-11 eq 1,199E-04 6,828E-06 -4,763E-05

POCP kg NMVOC eq 1,130E+01 4,360E-01 -4,365E+00

AP mol H+ eq 1,091E+01 5,045E-01 -4,413E+00

EP - freshwater kg P eq 1,144E+00 1,461E-02 -4,596E-01

EP - marine kg N eq 2,387E+00 1,462E-01 -1,056E+00

EP - terrestrial mol N eq 2,523E+01 1,581E+00 -1,003E+01

WDP m³ depriv. 8,571E+02 1,988E+00 -2,427E+02

ADP - F MJ 2,606E+04 6,468E+02 -1,022E+04

ADP - MM kg Sb eq 3,405E-02 4,323E-05 -1,254E-02

PERE MJ 3,12E+03 3,04E+01 -1,16E+03

PERM MJ 0,00E+00 0,00E+00 0,00E+00

PERT MJ 3,12E+03 3,04E+01 -1,16E+03

PENRE MJ 3,17E+04 7,08E+02 -1,25E+04

PENRM MJ 0,00E+00 0,00E+00 0,00E+00

PENRT MJ 3,17E+04 7,08E+02 -1,25E+04

SM kg 2,46E+02 1,54E-02 -1,81E+02

RSF MJ 0,00E+00 0,00E+00 0,00E+00

NRSF MJ 0,00E+00 0,00E+00 0,00E+00

FW m³ 1,39E+01 1,31E-01 -1,13E+01

HW kg 1,434E+02 3,06E-01 -5,65E+01

NHW kg 6,923E+02 6,82E-01 -3,97E+02

RW kg 6,970E-01 1,36E-03 -3,12E-01

REUSE kg 0,00E+00 0,00E+00 0,00E+00

RECYCLE kg 6,70E+00 2,49E-02 -4,96E+02

EN-REC kg 0,00E+00 0,00E+00 0,00E+00

EE-E MJ 0,00E+00 0,00E+00 0,00E+00

EE-T MJ 0,00E+00 0,00E+00 0,00E+00

PICKLED COIL STRIP

Abb. Unit A1-A3 C1+C4 D

GWP - t kg CO₂ eq 2,275E+03 5,174E+01 -6,167E+02

GWP - fossil kg CO₂ eq 2,271E+03 5,178E+01 -6,150E+02

GWP - biogenic kg CO₂ eq 1,287E+00 -5,211E-02 -1,139E+00

GWP - luluc kg CO₂ eq 1,664E+00 7,919E-03 -4,838E-01

GWP - GHG kg CO₂ eq 2,197E+03 5,112E+01 -5,941E+02

ODP kg CFC-11 eq 1,147E-04 6,828E-06 -2,983E-05

POCP kg NMVOC eq 1,486E+01 4,360E-01 -2,734E+00

AP mol H+ eq 9,172E+01 5,045E-01 -2,764E+00

EP - freshwater kg P eq 1,031E+00 1,461E-02 -2,878E-01

EP - marine kg N eq 2,180E+00 1,462E-01 -6,615E-01

EP - terrestrial mol N eq 2,290E+01 1,581E+00 -6,279E+00

WDP m³ depriv. 8,987E+02 1,988E+00 -1,520E+02

ADP - F MJ 2,400E+04 6,468E+02 -6,403E+03

ADP - MM kg Sb eq 3,430E-02 4,323E-05 -7,851E-03

PERE MJ 3,05E+03 3,04E+01 -7,25E+02

PERM MJ 0,00E+00 0,00E+00 0,00E+00

PERT MJ 3,05E+03 3,04E+01 -7,25E+02

PENRE MJ 2,90E+04 7,08E+02 -7,85E+03

PENRM MJ 0,00E+00 0,00E+00 0,00E+00

PENRT MJ 2,90E+04 7,08E+02 -7,85E+03

SM kg 4,40E+02 1,54E-02 -1,13E+02

RSF MJ 0,00E+00 0,00E+00 0,00E+00

NRSF MJ 0,00E+00 0,00E+00 0,00E+00

FW m³ 4,71E+01 1,31E-01 -7,08E+00

HW kg 1,175E+02 3,06E-01 -3,54E+01

NHW kg 6,686E+02 6,82E-01 -2,49E+02

RW kg 5,926E-01 1,36E-03 -1,95E-01

REUSE kg 0,00E+00 0,00E+00 0,00E+00

RECYCLE kg 6,06E+00 2,49E-02 -3,10E+02

EN-REC kg 0,00E+00 0,00E+00 0,00E+00

EE-E MJ 0,00E+00 0,00E+00 0,00E+00

EE-T MJ 0,00E+00 0,00E+00 0,00E+00



Environmental
Product Declaration

Strips and sheets 
in carbon steel16 17

COLD ROLLED COIL STRIP

Abb. Unit A1-A3 C1+C4 D

GWP - t kg CO₂ eq 2,357E+03 5,174E+01 -8,255E+02

GWP - fossil kg CO₂ eq 2,354E+03 5,178E+01 -8,232E+02

GWP - biogenic kg CO₂ eq 1,755E+00 -5,211E-02 -1,525E+00

GWP - luluc kg CO₂ eq 1,433E+00 7,919E-03 -6,475E-01

GWP - GHG kg CO₂ eq 2,264E+03 5,112E+01 -7,952E+02

ODP kg CFC-11 eq 1,303E-04 6,828E-06 -3,992E-05

POCP kg NMVOC eq 1,190E+01 4,360E-01 -3,659E+00

AP mol H+ eq 1,196E+01 5,045E-01 -3,699E+00

EP - freshwater kg P eq 1,378E+00 1,461E-02 -3,852E-01

EP - marine kg N eq 2,772E+00 1,462E-01 -8,854E-01

EP - terrestrial mol N eq 2,705E+01 1,581E+00 -8,404E+00

WDP m³ depriv. 8,092E+02 1,988E+00 -2,034E+02

ADP - F MJ 2,665E+04 6,468E+02 -8,570E+03

ADP - MM kg Sb eq 2,191E-02 4,323E-05 -1,051E-02

PERE MJ 2,50E+03 3,04E+01 -9,70E+02

PERM MJ 0,00E+00 0,00E+00 0,00E+00

PERT MJ 2,50E+03 3,04E+01 -9,70E+02

PENRE MJ 3,24E+04 7,08E+02 -1,05E+04

PENRM MJ 0,00E+00 0,00E+00 0,00E+00

PENRT MJ 3,24E+04 7,08E+02 -1,05E+04

SM kg 3,30E+02 1,54E-02 -1,51E+02

RSF MJ 0,00E+00 0,00E+00 0,00E+00

NRSF MJ 0,00E+00 0,00E+00 0,00E+00

FW m³ 1,94E+01 1,31E-01 -9,48E+00

HW kg 1,300E+02 3,06E-01 -4,74E+01

NHW kg 1,012E+03 6,82E-01 -3,33E+02

RW kg 6,545E-01 1,36E-03 -2,61E-01

REUSE kg 0,00E+00 0,00E+00 0,00E+00

RECYCLE kg 6,48E+00 2,49E-02 -4,15E+02

EN-REC kg 0,00E+00 0,00E+00 0,00E+00

EE-E MJ 0,00E+00 0,00E+00 0,00E+00

EE-T MJ 0,00E+00 0,00E+00 0,00E+00

GALVANIZED COIL STRIP

Abb. Unit A1-A3 C1+C4 D

GWP - t kg CO₂ eq 2,769E+03 5,174E+01 -9,716E+02

GWP - fossil kg CO₂ eq 2,761E+03 5,178E+01 -9,689E+02

GWP - biogenic kg CO₂ eq 5,185E+00 -5,211E-02 -1,794E+00

GWP - luluc kg CO₂ eq 1,859E+00 7,919E-03 -7,621E-01

GWP - GHG kg CO₂ eq 2,671E+03 5,112E+01 -9,360E+02

ODP kg CFC-11 eq 1,475E-04 6,828E-06 -4,699E-05

POCP kg NMVOC eq 1,209E+01 4,360E-01 -4,306E+00

AP mol H+ eq 1,250E+01 5,045E-01 -4,354E+00

EP - freshwater kg P eq 1,202E+00 1,461E-02 -4,534E-01

EP - marine kg N eq 2,798E+00 1,462E-01 -1,042E+00

EP - terrestrial mol N eq 2,933E+01 1,581E+00 -9,891E+00

WDP m³ depriv. 9,669E+02 1,988E+00 -2,394E+02

ADP - F MJ 2,982E+04 6,468E+02 -1,009E+04

ADP - MM kg Sb eq 7,512E-02 4,323E-05 -1,237E-02

PERE MJ 3,38E+03 3,04E+01 -1,14E+03

PERM MJ 0,00E+00 0,00E+00 0,00E+00

PERT MJ 3,38E+03 3,04E+01 -1,14E+03

PENRE MJ 3,56E+04 7,08E+02 -1,24E+04

PENRM MJ 0,00E+00 0,00E+00 0,00E+00

PENRT MJ 3,56E+04 7,08E+02 -1,24E+04

SM kg 2,53E+02 1,54E-02 -1,78E+02

RSF MJ 0,00E+00 0,00E+00 0,00E+00

NRSF MJ 0,00E+00 0,00E+00 0,00E+00

FW m³ 2,12E+00 1,31E-01 -1,12E+01

HW kg 1,445E+02 3,06E-01 -5,58E+01

NHW kg 7,192E+02 6,82E-01 -3,92E+02

RW kg 7,229E-01 1,36E-03 -3,08E-01

REUSE kg 0,00E+00 0,00E+00 0,00E+00

RECYCLE kg 6,76E+00 2,49E-02 -4,89E+02

EN-REC kg 0,00E+00 0,00E+00 0,00E+00

EE-E MJ 0,00E+00 0,00E+00 0,00E+00

EE-T MJ 0,00E+00 0,00E+00 0,00E+00



Environmental
Product Declaration

Strips and sheets 
in carbon steel18 19

BLACK SHEET

Abb. Unit A1-A3 C1+C4 D

GWP - t kg CO₂ eq 2,480E+03 5,174E+01 -9,868E+02

GWP - fossil kg CO₂ eq 2,484E+03 5,178E+01 -9,840E+02

GWP - biogenic kg CO₂ eq -6,063E+00 -5,211E-02 -1,823E+00

GWP - luluc kg CO₂ eq 1,523E+00 7,919E-03 -7,740E-01

GWP - GHG kg CO₂ eq 2,397E+03 5,112E+01 -9,506E+02

ODP kg CFC-11 eq 1,193E-04 6,828E-06 -4,772E-05

POCP kg NMVOC eq 1,122E+01 4,360E-01 -4,374E+00

AP mol H+ eq 1,086E+01 5,045E-01 -4,422E+00

EP - freshwater kg P eq 1,136E+00 1,461E-02 -4,605E-01

EP - marine kg N eq 2,375E+00 1,462E-01 -1,058E+00

EP - terrestrial mol N eq 2,508E+01 1,581E+00 -1,005E+01

WDP m³ depriv. 8,522E+02 1,988E+00 -2,432E+02

ADP - F MJ 2,591E+04 6,468E+02 -1,024E+04

ADP - MM kg Sb eq 3,374E-02 4,323E-05 -1,256E-02

PERE MJ 3,41E+03 3,04E+01 -1,16E+03

PERM MJ 0,00E+00 0,00E+00 0,00E+00

PERT MJ 3,41E+03 3,04E+01 -1,16E+03

PENRE MJ 3,15E+04 7,08E+02 -1,26E+04

PENRM MJ 0,00E+00 0,00E+00 0,00E+00

PENRT MJ 3,15E+04 7,08E+02 -1,26E+04

SM kg 2,45E+02 1,51E-02 -1,81E+02

RSF MJ 0,00E+00 0,00E+00 0,00E+00

NRSF MJ 0,00E+00 0,00E+00 0,00E+00

FW m³ 1,39E+01 1,31E-01 -1,13E+01

HW kg 1,423E+02 3,04E-01 -5,66E+01

NHW kg 6,876E+02 6,66E-01 -3,98E+02

RW kg 6,920E-01 1,19E-03 -3,12E-01

REUSE kg 0,00E+00 0,00E+00 0,00E+00

RECYCLE kg 6,70E+00 2,44E-02 -4,97E+02

EN-REC kg 0,00E+00 0,00E+00 0,00E+00

EE-E MJ 0,00E+00 0,00E+00 0,00E+00

EE-T MJ 0,00E+00 0,00E+00 0,00E+00



Environmental
Product Declaration

Strips and sheets 
in carbon steel20 21

COLD ROLLED COIL SHEET

Abb. Unit A1-A3 C1+C4 D

GWP - t kg CO₂ eq 2,334E+03 5,174E+01 -8,293E+02

GWP - fossil kg CO₂ eq 2,338E+03 5,178E+01 -8,269E+02

GWP - biogenic kg CO₂ eq -5,781E+00 -5,211E-02 -1,532E+00

GWP - luluc kg CO₂ eq 1,430E+00 7,919E-03 -6,505E-01

GWP - GHG kg CO₂ eq 2,249E+03 5,112E+01 -7,989E+02

ODP kg CFC-11 eq 1,296E-04 6,828E-06 -4,010E-05

POCP kg NMVOC eq 1,182E+01 4,360E-01 -3,676E+00

AP mol H+ eq 1,189E+01 5,045E-01 -3,716E+00

EP - freshwater kg P eq 1,367E+00 1,461E-02 -3,870E-01

EP - marine kg N eq 2,755E+00 1,462E-01 -8,894E-01

EP - terrestrial mol N eq 2,688E+01 1,581E+00 -8,442E+00

WDP m³ depriv. 8,048E+02 1,988E+00 -2,043E+02

ADP - F MJ 2,649E+04 6,468E+02 -8,609E+03

ADP - MM kg Sb eq 2,173E-02 4,323E-05 -1,056E-02

PERE MJ 2,80E+03 3,04E+01 -9,75E+02

PERM MJ 0,00E+00 0,00E+00 0,00E+00

PERT MJ 2,80E+03 3,04E+01 -9,75E+02

PENRE MJ 3,22E+04 7,08E+02 -1,06E+04

PENRM MJ 0,00E+00 0,00E+00 0,00E+00

PENRT MJ 3,22E+04 7,08E+02 -1,06E+04

SM kg 3,28E+02 1,51E-02 -1,52E+02

RSF MJ 0,00E+00 0,00E+00 0,00E+00

NRSF MJ 0,00E+00 0,00E+00 0,00E+00

FW m³ 1,93E+01 1,31E-01 -9,53E+00

HW kg 1,291E+02 3,04E-01 -4,76E+01

NHW kg 1,004E+03 6,66E-01 -3,35E+02

RW kg 6,500E-01 1,19E-03 -2,63E-01

REUSE kg 0,00E+00 0,00E+00 0,00E+00

RECYCLE kg 6,49E+00 2,44E-02 -4,17E+02

EN-REC kg 0,00E+00 0,00E+00 0,00E+00

EE-E MJ 0,00E+00 0,00E+00 0,00E+00

EE-T MJ 0,00E+00 0,00E+00 0,00E+00

PICKLED SHEET

Abb. Unit A1-A3 C1+C4 D

GWP - t kg CO₂ eq 2,252E+03 5,174E+01 -6,243E+02

GWP - fossil kg CO₂ eq 2,256E+03 5,178E+01 -6,226E+02

GWP - biogenic kg CO₂ eq -6,244E+00 -5,211E-02 -1,153E+00

GWP - luluc kg CO₂ eq 1,659E+00 7,919E-03 -4,897E-01

GWP - GHG kg CO₂ eq 2,183E+03 5,112E+01 -6,014E+02

ODP kg CFC-11 eq 1,141E-04 6,828E-06 -3,019E-05

POCP kg NMVOC eq 1,474E+01 4,360E-01 -2,767E+00

AP mol H+ eq 9,077E+01 5,045E-01 -2,798E+00

EP - freshwater kg P eq 1,024E+00 1,461E-02 -2,913E-01

EP - marine kg N eq 2,169E+00 1,462E-01 -6,696E-01

EP - terrestrial mol N eq 2,277E+01 1,581E+00 -6,356E+00

WDP m³ depriv. 8,933E+02 1,988E+00 -1,538E+02

ADP - F MJ 2,387E+04 6,468E+02 -6,481E+03

ADP - MM kg Sb eq 3,399E-02 4,323E-05 -7,947E-03

PERE MJ 3,35E+03 3,04E+01 -7,34E+02

PERM MJ 0,00E+00 0,00E+00 0,00E+00

PERT MJ 3,35E+03 3,04E+01 -7,34E+02

PENRE MJ 2,89E+04 7,08E+02 -7,94E+03

PENRM MJ 0,00E+00 0,00E+00 0,00E+00

PENRT MJ 2,89E+04 7,08E+02 -7,94E+03

SM kg 4,36E+02 1,51E-02 -1,14E+02

RSF MJ 0,00E+00 0,00E+00 0,00E+00

NRSF MJ 0,00E+00 0,00E+00 0,00E+00

FW m³ 4,67E+01 1,31E-01 -7,17E+00

HW kg 1,167E+02 3,04E-01 -3,58E+01

NHW kg 6,642E+02 6,66E-01 -2,52E+02

RW kg 5,888E-01 1,19E-03 -1,98E-01

REUSE kg 0,00E+00 0,00E+00 0,00E+00

RECYCLE kg 6,07E+00 2,44E-02 -3,14E+02

EN-REC kg 0,00E+00 0,00E+00 0,00E+00

EE-E MJ 0,00E+00 0,00E+00 0,00E+00

EE-T MJ 0,00E+00 0,00E+00 0,00E+00



Environmental
Product Declaration

Strips and sheets 
in carbon steel22 23

GALVANIZED SHEET

Abb. Unit A1-A3 C1+C4 D

GWP - t kg CO₂ eq 2,741E+03 5,174E+01 -9,754E+02

GWP - fossil kg CO₂ eq 2,741E+03 5,178E+01 -9,726E+02

GWP - biogenic kg CO₂ eq -2,388E+00 -5,211E-02 -1,802E+00

GWP - luluc kg CO₂ eq 1,852E+00 7,919E-03 -7,651E-01

GWP - GHG kg CO₂ eq 2,651E+03 5,112E+01 -9,396E+02

ODP kg CFC-11 eq 1,465E-04 6,828E-06 -4,717E-05

POCP kg NMVOC eq 1,200E+01 4,360E-01 -4,323E+00

AP mol H+ eq 1,243E+01 5,045E-01 -4,371E+00

EP - freshwater kg P eq 1,193E+00 1,461E-02 -4,552E-01

EP - marine kg N eq 2,781E+00 1,462E-01 -1,046E+00

EP - terrestrial mol N eq 2,914E+01 1,581E+00 -9,930E+00

WDP m³ depriv. 9,607E+02 1,988E+00 -2,403E+02

ADP - F MJ 2,963E+04 6,468E+02 -1,013E+04

ADP - MM kg Sb eq 7,436E-02 4,323E-05 -1,242E-02

PERE MJ 3,67E+03 3,04E+01 -1,15E+03

PERM MJ 0,00E+00 0,00E+00 0,00E+00

PERT MJ 3,67E+03 3,04E+01 -1,15E+03

PENRE MJ 3,54E+04 7,08E+02 -1,24E+04

PENRM MJ 0,00E+00 0,00E+00 0,00E+00

PENRT MJ 3,54E+04 7,08E+02 -1,24E+04

SM kg 2,51E+02 1,51E-02 -1,79E+02

RSF MJ 0,00E+00 0,00E+00 0,00E+00

NRSF MJ 0,00E+00 0,00E+00 0,00E+00

FW m³ 2,24E+00 1,31E-01 -1,12E+01

HW kg 1,434E+02 3,04E-01 -5,60E+01

NHW kg 7,142E+02 6,66E-01 -3,94E+02

RW kg 7,177E-01 1,19E-03 -3,09E-01

REUSE kg 0,00E+00 0,00E+00 0,00E+00

RECYCLE kg 6,76E+00 2,44E-02 -4,91E+02

EN-REC kg 0,00E+00 0,00E+00 0,00E+00

EE-E MJ 0,00E+00 0,00E+00 0,00E+00

EE-T MJ 0,00E+00 0,00E+00 0,00E+00

Additional information

The raw material purchased by Marcegaglia Poland SP Z 
O O it is characterized by a recycled content of 25.9%: 
this percentage is calculated as a weighted average 
of the same value associated with the incoming raw 
material and deriving both from Type III environmental 
declarations as well as from self-declarations compliant 
with the UNI EN ISO standard 14021. The steel comes both 
from blast furnace (with a recycled content of 21.4%) 
and from electric arc furnace (with an average recycled 
content of 72.1%).
The materials used for the packaging of the final products 
consist of plastic and / or metal straps, wooden saddles 
and polyester bands. The quantities of these packaging 
compared to one ton of final product identify a value of 
less than 1%.

The products do not contain hazardous substances from 
the SVHC Candidate List for Authorization in quantities 
greater than 0,1%.
Regardless of the type of product considered, the 
element that most affects the final result is the steel 
purchased which represents the input element to the 
various company sites, intended for the subsequent 
production of semi-finished products. 
The impacts of energy consumption determined by the 
processes carried out within the company boundaries are 
often marginal compared to the impact associated with 
the supply of raw materials.

SUSTAINABILITY
It should be noted that at the end of its useful life, the 
product is destined for recycling. In particular, the 
amount of steel destined for recycling is 85% in line with 

what is indicated in the ”Life Cycle inventory (LCI) study” 
of the World Steel Association – May 2021.

MANAGEMENT SYSTEM
With reference to the management systems used by the 
company, it is emphasized that the presence of a quality 
management system (certified pursuant to EN ISO 9001: 
2015) ensures that the products are completely traceable 

throughout theentire production chain, from the original 
material to chemical and mechanical properties, to 
guarantee absolute suitability for the specific applications 
in accordance with the relevant standards.

23



Environmental
Product Declaration

Strips and sheets 
in carbon steel24 25

References

General Programme Instructions of the International EPD® 
System. Version 3.01;
PCR 2019:14 - Version 1.11 “CONSTRUCTION PRODUCTS” – 
Date 2021-02-05;
Product Category Rules for Type III environmental product 
declaration of construction products to EN 15804:2012;
Ecoinvent database v.3.8 – November 2021;
UNI EN ISO 14025: 2010 “Environmental labels and 
declarations - Type III environmental declarations - Principles 
and procedures”;
UNI EN ISO 14040: 2021 “Environmental management - Life 
cycle assessment - Principles and framework”;
UNI EN ISO 14044:2021 “Environmental management - Life 
cycle assessment - Requirements and guidelines”;
UNI EN ISO 15804:2021 “Sustainability of buildings - 
Environmental product declarations - Development framework 
rules by product category”;
European Residual Mixes 2021 Association of Issuing Bodies 
“European Residual Mixes - Results of the calculation of 
Residual Mixes for the calendar year 2021” – version 1.1, 2022-
05-31;
CSIRO “Metal recycling: The need for a life cycle approach” – 
May 2013;
IFEU-Institut and Sineco “Recovery of demolition materials of 
CaseClima” – September 2012;
World Steel Association “Life Cycle inventory (LCI) study” - 
May 2021.

24 25



www.evirondec.com

Ligota Dolna - ul. Przemysłowa, 1 - 46200 
Kluczbork, Poland
Phone +48 . 77 . 45 98 200
kluczbork@marcegaglia.com
www.marcegaglia.com


